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1. Overall Description:

RAN4 thanks the LS from RAN1 on temporary RS for efficient SCell activation in NR CA. In RAN4#98e and RAN4#98bis-e, LS reply on partial questions was sent to RAN1 respectively. During this RAN4 meeting, RAN4 further discussed the remaining questions and achieved the following conclusions:

Q1: to expedite SCell activation, RAN1 is studying whether and under which conditions (e.g. FR1/FR2, known/unknown cell, etc.), how many temporary RS bursts/symbols are required to achieve both UE AGC setting and time/frequency tracking. Does RAN4 have any information to share for these aspects?

[RAN4 Response]: 
· SCell to be activated is known and belongs to FR1 and if the measurement period of the SCell being activated is larger than [2400ms]. It is confirmed in previous LS reply that 
· Temporary RS can be used for AGC

· 1 burst (2-slot with four CSI-RS resources) is required

· Temporary RS can be used for time/frequency tracking

· 1 separate burst (2-slot with four CSI-RS resources) is required in addition to the one burst required for AGC

· Minimum gap between the RS symbol(s) for AGC and the RS symbols for time/frequency acquisition is needed to account for UE AGC application time delay.
In this meeting RAN4 further discussed and agreed that the minimum gap length is
· For 15kHz and 30kHz SCS: 2 slots

· For 60kHz SCS: 3 slots
In addition, RAN4 would like to inform RAN1 an information that for the case where SCell to be activated is known and belongs to FR1, the condition of “SCell measurement cycle is larger than/less than/equal to 160ms” which was used in previous reply LS is replaced by the condition “the measurement period of the SCell being activated is larger than/less than/equal to [2400ms]” in RAN4.

Q2: for AGC setting in intra-band CA comprising of a to-be-activated SCell and an activated serving cell, when a temporary RS is transmitted on the to-be-activated SCell, whether and under which conditions (e.g., FR1/FR2, known/unknown cell, etc.) the UE may require to receive another RS transmitted also on the other activated serving cell in the same band?

[RAN4 Response]: RAN4 understand Q2 focus on two cases:

· SCell to be activated is known and belongs to FR1, if the measurement period of the SCell being activated is larger than [2400ms]. 
· SCell is unknown and belongs to FR1, and SCell is contiguous to an active serving cell in the same band

In these above cases for AGC adjustment when a temporary RS is transmitted on the to-be-activated SCell,
· the RSs on the other activated serving cell in the same band are not required to be transmitted in the same slot as the temporary RS.
· UE may report inaccurate non-zero CQI on the being-activated SCell during the SCell activation procedure in case the RSs on the other activated serving cell in the same band are not transmitted in the same slot as the temporary RS.
2. To RAN WG1 and WG2 group. 

ACTION: 
RAN4 respectfully ask RAN1 and RAN2 to take the above agreements into account.
3. Date of Next TSG-RAN WG4 Meetings:
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